C:# Moltiplicare le frazioni unitarie con lalineadei numeri  Nome:

Usalalinea dei numeri per risolvere. Risposte
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C:# Moltiplicare le frazioni unitarie con lalineadei numeri  Nome:

Usalalinea dei numeri per risolvere. Risposte
17, 1Y, yA 1Y,
9 2 Y, 1Y, t
17, A 2
1) 0 1 2
Al e+ttt 3
4,
2) 0 1
.%x7: 4+ n 5
6.
3) 0 1
ZX%: 4+ ++ + + b ,
8.
H 9 0 1
7 x E = 1 1 1 1 1 1 1 1 1 > 9
5) 0 1 10.
—%x4: ¢ —++—+—F++++ b
6) 0 1 2
—%x . ———+—+—+—t—+—+—+++b
0 1 2 3 4
7).%x6= — b
8) 0 1 2 3
9w%: —————————————————+——»
9) 0 1 2
zx%: 4——
10) 0 1
6x%: <4 | | | | | : >

I
. Semplificato 1-10 90|80 70|60 |50]40]30]20[10] O |
[M atematlca] www.CommonCoreSheets.it 8




	Worksheet
	Soluzioni
	Modified Worksheet

